R (BRF)

o e ” (=154
53 E3idl SHRERR =l F=E RERE
WIG81 RE
WIG82 [As g S4s¢ B
WIG83 — 0Cr18Ni9 | SUS304 =
_WIGo1 | e 45 S45C - T
WIG92 R=RE TR
WIG93 | mesm 0Cr18Ni9 | SUS304 =
WIG84 ] 45 S45C RE
WIG85 BERK ERRER
WIG86 p— 0Cr18Ni9 | SUS304 —
_WiG94 | — 45 S45C ﬁi
WIG95 EERE IR
WIG96 0Cr18Ni9 | SUS304 =
TR - 2R DNZEEY - 12T 3%
WIG81/82/83 L WIG84/85/86 . <
EX Example
ol B 2-C5 Q\ B 2-C5 ERmb)
* M ! ST () BT
- T | M1 Rt E
@ AT RS
= 2-d = \ 2-d TETBRITAT
= ; P = ; ! ‘}/ﬁ
] ‘
> (Y P > | A
I . 2-C2 I # 2-C2
| | | Il Il |
= el S 15 N : O MERNSTREAFNESEL, T
= - FREHEE PEETNELIRET.
TR - AR hnEERY. A=
WIG91/92/93 L WIG94/95/96 L
‘DA 2-C5 QAJ 4-di | 2-Cc5
Il ¥ il
! W é/*‘ VM
o Lea R
e ®a LS e
5 ‘ 2-d 2 | ‘ || 2-q
; Y Aave v
S| | & © | A
! £ 2-C2 £ 2-C2
N N
Il Il Il Il
T ‘ = A PZE77 =1
D D N = .
= L" = L’j Mg F—0A
@ SERERR: BERE
e
| e SiiE D L w H F T U v B d M M1
13 12 36 43 21 28 19
TR 12
e = 16 40 47 25 32 23 - B ~
WIG82 20 20 52 37
WIGS3 2 48 o5 33 - 31
23 26 ) 53 61 o 34 ) 40 . 36 65
8 +0.1
= 12 56 43 41 28 19 M8x1.0 | M6
mEsa 12
e = 16 70 47 50 32 23 o
WIG85 20 52 37 M10x1.0
WIG86 2d 2 75 o5 55 ™ 31 Me
23 26 86 61 63 40 36 65 | Mi2x1.0
@ SERERR: E=2RE
S 2 - D D+ L w H F T U v d di A M Mi
KB | EESHEER
mgg% 20 12 10 52 45 | 14
WIG92 48 33 - -
WiGes 25 1w || 12 55 55 | 16.5
— =0'2 8 25 | 37 6 5.5
aﬂggi 20 12 10 52 45 | 14
Wieos - " < 75 PR 55 o | 1os M10x1.0 | M8
WIG96 - :
BE n @ hEM ey
8 | FEermms] ° w 5E
g a T _tis [100%|BEERA
ERETH )

WIG81—10—D12

PR



